- < —SH—= Mz Mo
202548 M X Wi A ¥ B R S o A RO (H B (5 /m1)
X4y 4 A 5 A 6 A 7 A
<14 —34 —54 —10.4—20.420.5= <34 =104=<1.4 —3.4 —5.4 —10.4—20.420.5= =<3.4 <104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4<1.4 —3.4 —5.4 —10.4—20.420.5=< =<3.4 =10.4
Hu[x (% %) (% %) (& %) (5 %)
% % % % % % % %N % % % N % % % % % % % % % % % % % % % % % % % %
HHF 94.3 5.7 100.0 100.0 |95.1 4.9 100.0 100.0 |98.1 1.9 100.0 100.0 |95.8 1.8 1.2 1.1 97.7 100.0
Ze5 95.7 4.3 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 |96.4 3.6 100.0 100.0
B 98.9 1.1 100.0 100.0 |94.4 4.3 0.4 0.9 98.7 100.0 |97.6 2.4 100.0 100.0 |98.1 1.9 100.0 100.0
%k 100.0 100.0 100.0 |100.0 100.0 100.0 | 94.2 2.4 3.4 94.2 100.0 [94.1 2.9 2.9 0.2 96.9 99.8
Fer il 100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0
iy =1 95.2 4.8 100.0 100.0 |96.8 2.2 1.1 98.9 100.0|97.5 1.4 1.1 98.9 100.0 199.2 0.8 100.0 100.0
JiIZR7 98.6 1.4 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0 |100.0 100.0 100.0
H & 969 1.6 1.5 98.5 100.0 |98.6 1.4 100.0 100.0 |98.6 1.4 100.0 100.0 |98.4 1.6 100.0 100.0
+ 97.1 2.2 0.3 0.4 99.3 100.0 |97.6 2.2 0.2 0.0 99.8 100.0 |97.6 2.0 0.2 0.1 0.1 99.7 99.9 |96.7 2.5 0.2 0.6 99.2 100.0
Bl 98.1 1.8 0.1 99.9 100.098.2 1.7 0.1 0.0 99.9 100.0(97.9 1.8 0.2 0.1 99.7 100.0 |96.5 2.9 0.6 0.0 99.4 100.0
R=E 97.3 2.3 0.2 0.2 99.6 100.0 |97.3 2.4 0.3 99.7 100.0{97.1 2.5 0.1 0.3 0.1 99.6 99.9 |94.0 4.8 0.7 0.5 98.9 100.0
waE 97.4 2.4 0.1 0.1 99.8 100.0 {974 1.6 0.2 0.5 0.2 99.0 99.8 197.2 2.3 0.1 04 99.5 100.0 |95.5 3.8 0.2 0.5 99.3 100.0
T4 99.0 0.8 0.2 99.8 100.0 |97.3 2.4 0.3 99.7 100.0|97.6 1.6 0.3 0.3 0.2 99.2 99.8 1974 2.0 0.6 99.4 100.0
B 95.7 3.1 1.2 98.8 100.0 |97.8 2.2 100.0 100.0 | 95.8 4.2 100.0 100.0 |95.1 4.9 100.0_100.0
D] 975 2.1 0.2 0.2 99.6 100.0 {974 2.2 0.2 0.1 0.1 99.6 99.9 |97.5 2.1 0.2 0.2 0.0 99.6 100.0 |96.1 3.2 0.4 0.4 0.0 0.0 99.2 100.0
20244E #E45 97.3 2.0 0.4 0.2 0.1 99.3 999976 1.8 0.3 0.2 0.0 0.0 99.4 99.9 196.5 3.0 0.4 0.2 99.5 100.0(96.2 2.9 05 0.3 0.0 0.0 99.2 100.0
20234 EM 97.8 2.0 0.1 0.1 0.0 99.8 100.0[97.1 2.5 0.2 0.2 0.0 99.6 100.0197.3 2.2 0.3 0.1 0.1 0.0 99.5 99.91959 3.2 04 04 0.1 99.1 99.9
X4y 8 H ¥y (4H~8AH)
<14 —34 —5.4 —10.4—20.420.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.£20.5= =<3.4 =10.4
HiX (% %) (% %)
% % % % % % % %N % % % % % % % %
AFF 93.0 4.9 2.1 97.9 100.0 |95.3 3.9 0.6 0.2 99.1 100.0
7250 96.8 3.2 100.0 100.0 [97.8 2.2 100.0 100.0
B 91.1 6.8 1.3 0.8 97.9 100.0 [96.0 3.3 0.3 0.3 99.3 100.0
%k 97.0 0.2 2.7 97.3 97.3]97.1 0.6 05 1.2 0.5 97.7 99.5
el 88.5 11.5 100.0 100.0 | 97.8 2.2 100.0 100.0
T 100.0 0.0 100.0 100.0 [97.7 1.9 0.4 99.6 100.0
JilEk7 100.0 100.0 100.0 |99.7 0.3 100.0 100.0
HE 99.0 1.0 100.0 100.0 [98.3 1.4 0.3 99.7 100.0
5 95.6 3.9 0.2 0.2 0.1 99.6 99.9196.9 2.6 0.2 0.3 0.0 99.5 100.0
Bl 946 49 0.4 0.0 0.0 99.6 100.097.1 2.6 0.3 0.0 0.0 99.7 100.0
R=E 95.1 3.5 0.8 0.6 98.6 100.096.2 3.1 04 0.3 0.0 99.3 100.0
waE 948 4.7 0.2 0.2 0.1 99.5 99.9196.5 2.9 0.2 0.3 0.1 99.4 99.9
N 96.3 2.8 0.6 0.3 99.1 99.7 /975 1.9 04 0.1 0.0 0.1 99.5 99.9
HEH 192.8 6.4 0.8 99.2 100.0 |95.5 4.1 0.4 99.6_100.0
oy 95.2 4.1 04 03 0.0 0.0 99.2 99.9 96.7 2.7 0.3 0.2 0.0 0.0 99.5 100.0
20244E %45 96.1 3.1 0.5 0.3 0.0 0.0 99.2 99.9|96.8 2.5 0.4 0.2 0.0 0.0 99.3 100.0
20234 EHER] 956 3.7 0.6 0.2 0.1 0.0 99.1 99.9196.7 2.7 0.3 0.2 0.1 0.0 99.4 99.9




